Name of the Trade : Architectural Assistant 2" Sem - NSQF - Module 1 : Principles of design, Factors influence the design

Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans |Level
1|What is the primary process of a building design? Drawing plan Synthesis Designing Modelling Teh HdeT TSolSeT T FrATHS Jihdl SELRIC T SISl eATell Arsfeler B 1
T §?
2|What helps natural ventillation in a building? Prospect Roominess Aspect Circulation T SARA H Uipfded dicelds H IEgFe T TEIaT g olle C 1
FIT AcG fAeIT 82
3|The effect produced by designing the maximum Prospect Roominess Aspect Circulation AdA faATeha @ forel TU=T & qEdeC FHTILT THFe R GEC] B 1
benefits of a space from minimum dimension is 3ifas oAt Fr BoEaT e
called 3T YHTT T el
ST &
4|The views or look of a building depends upon Prospect Roominess Aspect Circulation fordt 91aeT FT T2T AT &9 IR FHTTET ToFT REENC] A 2
the W AR Far g
5(In small areas, which planning is more Open planning Closed planning Diagonal planning Vertical planning  |BI¢ &1 H, ST Alolell 3Teeh JTET 39eT TATTAaT Follos Tollleldl | SRIENIS Tolllaldl | diehel Tolliealdl | A 1
effective 3
6|The movements in a building is called Planning Circulation Roominess Ventillation TR 81deT H glel dTel HIAC I CelTfetar REENC wHTT éTerreT B 1
__ SR
7|The positioning of a building so as to get natural Planning Orientation Design Location 9T Tae TRl AR dicelelsd | CeTTeAaT IR ESIED T B 1
light and ventillation is called FA & Tolv HaeT Fr ufa «r
&gl STl §
8|The main objects of orientation is Ventillation View Style Aesthetics HATITE T AT €T deTerereT =y SSEC Hledrd A 2
J
9|Comparative study of the measurements and Proportion Scale Anthopometry Orientation AT R & AT 3R TN & 3egard Thol TEATIIACT EIEICEIrs] C 2
capabilities of the human body is called JeledlcHsh TEITT
FHEeTdl &
10|What is the relation of parts to each other or the Proportion Height Plane Module ARATOT, AT AT 33T & Hed H 3gard EDIE] Celel Az A 1
whole in terms of magnitude, quantity or degree Teh E{\H'T ar 9'3 TN T AT FaET
called? &2
11[The minimum window to floor area in India 20% 10% 1% 50% HRA # &Y &1F & o go1dA @8 20% 10% 1% 50% B 1
is g
12| Aesthetic component in building Composition Scale Proportion Contrast ofesar 7 dleday gch FEaIoIerT Thel 3gard Eaarsd A 1
3
13|What does "patio” mean in a coffee shop design? Closed room High counter table Courtyard deck Low counter table [T 2T B8 & "31TeT" &7 F4T §¢ ST 3= 3] eodl 3741 &7 3 N FER qT | C 1

37T g7




14|Which one increases the ambience of a coffee Colour psychology Lighting effect Acoustics Wall decorations  [@lel Y Teh il &I gehle T T AANTIATT Rl JHT &qTey-Taairet AR FI Felae
shop? AR ST 87
15|What is the standard size for a class room for a 7M x 9M 2M x 15M 12M x 3M 15M x 15M U AefAS 3w 9o & fov 7M x 9M 2M x 15M 12M x 3M 15M x 15M
secondary higher school? THh FoIld & & o7 #ATAS SR
T 7
16|What is the space standards for minimum of 5 8 sqgm 100 sgm 5 sgm 22 sqgm FH T FH 5 o & PRI & 8 gaTHTY 100 garHEex 5 gaTATeX 22 gaTHTeT
people workspace? T g% T 97 872
17|What is the essential requirement of design of a Flexibility Aesthetics Lighting and Symmetry FATH TH b [3lSe] FT AT CEIGIED] B ICPRIE] gehrel 3R JfeerRreT HHATTAT
class room? Ventilation 3MaThdT FIT §2
18|What is the term "flat" in an appartment design? An workspace in office | A house attached to a A suite of rooms | A private housing for [T TUIcHC Balls & "Folc” 2eg FETIT H TS Wd ¥ ol §3N |k A H Gl AGATT &t
farm forming an residence paying guests FI7 872 FryaT {3ry FT Th HFRT IATT HLA
& sl
K IGIES)
19|Which type of an appartment provides a centralised | Courtyard appartment Block appartment Row appartment Narrow appartment |Teh TATCHE T #ied & TR Teh 3T HT AUICHS | solleh 3UTCHT A 3UICHS FhIUT UICHS
open space area for a better aesthetics? g dlgdams & v vk Hdpd
Goll AT 8T YaTed Il 572
20[What is the minimum width for a walking track in a 1.5M 15 M 5M 12 M T g0 T W doled & ¢h & 1.5M 15 M 5M 12 M
outdoor space? T sga1an diss Fam §?
21|How does harmony help in a landscape design? Elements looks densely Elements in a Elements must be  |Elements will create a [ofs&hT TSlSel H gTHlel & Feg | dcdl Pl Gald{d | Ueh IRERT Tl | ccd Hgdl glel  |cfed Ueh AT
placed landscape composition expensive pathway FIAT §? T 4@ ST § | # ded ThIpd AT HEET
looks unified fegar
22|Which city is an example of cold and cloudy climate? Goa Manali Agra Mumbai e AT AT 33 3N JGl BV gU anar AT 3TIRT EECE]
ATy H Tk 3GTEX0T 872
23|Which of the following is the advantage of Aesthetics Reduction in energy bills| Improved circulation | Outdoor environment |FFTaT@d & & Fi AT 7 & Hledemd ol T9ell & HAT | 96k IRTWROT | STEL ardraRor
orientation of building? SeHEHIOT T TH 8?2
24|What is a piece of land enclosed by definite Set back Plinth Gallery Site Mg @ant @ Bl qA &1 Ac 96 et Bl s
boundaries called? THST FAT FHEalldl 672
25|Which drawing represents the horizontal Section Elevation Floor plan Perspective view [Pl &T 38T A AT iR g emal EEIL) Tk Tollel aRUET T
arrangement of building parts and furnishing? FEJT G Fr aifder sgawdr FH
gfaaf®ea #ar g7
26(What is an architectural plan that divides the internal Closed plan Open plan Courtyard plan Site plan T Wf?]‘qcf QrsteAT FT § S Follog Tellel 39eT Telled 31T &7 IiofelT FSC Trotell
space of a structure into separate, discrete rooms T & 3-11?@35.1:2.11?{ FI 3TcldT-
called? 316, 31 ®RT H fqanfaa
FA 87
27(What is the standard size required for a car parking? 12x22M 3X5M 4x6M 2x3M FR Ulehdl & Tl HAAS HR 12x22M 3X5M 4x6M 2x3M

3TaTHAT &7




Name of the Trade : Architectural Assistant 2" Sem - NSQF - Module 2 : Arches and Lintels, Estimation

Question OPTA OPT B OPTC OPTD Question OPT A OPT B OPTC OPTD Ans |Level
1|Which type of arch consist of two centres? Venetian arch Drop arch Tudor arch Ogee arch FT PR & 3T H & Hg aid 87 AT 3T 3T AT TR A 3 3 B 1
2|Which type of arch is used for circular windows? Bull's eye arch Segmental arc Semi circular arch Pointed arch  [MelpR [@shaT & ToIT hd TR Jod 33 3T TaHed I | 31 MAPR 3R | e80T Aes A 1

F 3T HT 3T HAT ST §?
3|What is the thickness of mortar joints in gauged arch? 1 mmto 2 mm 25mmtol5mm | 1.5mmto.75mm | 1mmto.75mm |3 T T 3T & AR AT S 1T g oA |25 a 15 | 15T a 75 | 1@ @ .75 C 1
AT FT 82 Ay IZE: ) ez
4|What is the temporary structure that supports arch during Tile of arch Beam of arch Centering of arch Column of arch |3 AR &Il FAT § S AT & 3T FT B HE S T ST I TS AR A TIH | C 1
construction? a1 TT & gHIT AT §?
5|What is the inclined or splayed surface on the abutment? Arcade Skew back Spandrel Springers 3gCHE TN HE AT eed Hag T 3T TFY dh Tifge oI B 1
g7
6[Which type of arch is constructed from bricks, cut to a Rough arch Rough cut arch Cut arch Gauged arch T YR & A &l AT 5ef F IH 3T 6 Hc I Fc g Ass 3T B 1
wedge shape by means of an axe? & e &, S U Fegrs! & ATeH
q TSI AT HR A Hc SATAm g2
7|Which type of arch is constructed from ordinary un - cut Axed arch Rough arch Gauged arch Rough cut arch  [fh& 9k & 31T o1 fAATOT HTEROT TFHS 3T T 3T Ass 3™ T6 & I B 1
bricks? HYF HC gl A R amm g2
8|Which arch is the pointed arch of tudor period? Two centered arch | Three centered arch | Four centered arch | Five centered arch S AT &1 il 3T HieT AT £?| al Hiegd AT | dlel higd HeXld | IR hiegd HeXd | I Higd Heusd| C 1
9|What is the outer curve of an arch? Haunch Extrados Intrados Soffit Teh 3T & SIgYT dsh F4T £7 g TFEeTsr g gersid Aifthd B 1
10|What is the wedge shaped unit fixed at the highest point Crown Skew back Key Pier aoT & R 1 e &l 3 & 3T =Y 9% CIE [P C 1
of arch? Seaad f§g W fhad aF fhar sirar
g7
11|What structure is constructed to span across an opening? Column Sunshade Lintel Arch T& 3gIes & eI [hd Tl &1 RSt 18 Gl AT D 1
AT R STar 82
12|Which arches are constructed in rubble masonry or ashlar Concrete arches Wooden arches Stone arches Brick arches AT T RS arel S & Sl Fshic HAeUd | oIPay T AT | TR FT AU | s¢ 1 AT C 1
masonry? AT 1 AT R Sirar 22
13|Which horizontal member is placed across an opening to Window Door Sill Lintel W A TITAT A AT I GAST @5 gt e W D 1

support the position of the structure above it?

FA F fov 5 8fas g &
NUT F I@T IR g2




14|What is the projecting or overhanging eaves of a roof? Balcony Canopy Chajja Gazebo Td & WoliFedT AT 3Nae 39T sc8 STelchell hHelTdY Tooll EEEN]
FIT §?
15|What is the part marked as ‘X’'? Springers Crown Voussoirs Pier X & ®F H AET AWT F41 82 e FI3A AR ISP
x
:

16|What is the row of an arch? Crown Arcade Haunch Span Teh AT $T gfp 4T g2 FI3A 3Tehs REl o
17|The unit of measurement of earth work escavation m cu.m sq.m number RAT & FI P AT H FHG #Hrex e T T A aam

is g
18|The total cost worked out in a prescribed form for a Work charged Bill of quantities Abstract of Centage charges [U&h Ta&qd 3if#AE & T @uiRa g Aes ST foer 31T TsHcde 3h Tt el

detailed estimate is called establishment estimated form &7 # uiRa o aerg a1 fafererde Faifedrst TEHES B

gl ST g

19[The estimate which is used to get sanction of works Detailed estimate Cube rate estimate | Plinth area estimate Approximate AT & HJAG TH Fel & folw faeqa 3gAE geIdlel & Toer2r TRam AT

is estimate ST UTerehelel SOTT ST & 98 A TeFeholel Tereholel
20| This estimate which is prepared when the rate of Approximate estimate | Revised estimate | Plinth area estimate | Detailed estimate |Jg Weeheld ST dd AR AT ATAT | AT HTeFeholel | AT TreFhelet | oo TRAm fa¥gd drFhelel

previously submitted estimate increases by 5% or more g S99 g GRIECTC IR IS YTeFehelel

than that is called 5% AT 3TH ¢ ST §
21[The unit of measurement of concrete is sg.m m cu.m number Fchlc Sl AT T FHS g I Hex . g AT aear
22|A mix of fine aggregate, course aggregate, binding agent Plaster Concrete Putty Paint WE TR, B TARIE, SEfzar T FHohic g2 1

and water is called

Taic R Ui &1 FAsor
FEedT ¢




Name of the Trade : Architectural Assistant 2" Sem - NSQF - Module 3 : Stairs, Rate analysis, Specification

Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans Level
1|Which vertical transportation is suitable for large number of Stairs Ramp Escalator Lift Fief A SEAER IRagaT 91 qE&Aq et g Teldl el forFe B 1
people? H ol & fow 3ugs g
2|What is the range of angle for stair? 40° to 45° 45° to 60° 25° to 30° 30° to 40° T & Tow T Fr AAT FAT g2 40°F 45° 45°F 60 ° 25°H 30° 30°9H 40° D 1
3|What is the name of part marked as ‘x’? Tread Riser Stringer Going X'F & A RAEd 097 &1 a1 F=27r [ TR F=oriny ST C 1
g7
X
4|(What is an ordinary step of rectangular shape in plan? Flier Going Tread Riser Tl H AR 3R HI Th eIl IS o] RER DS A 1
AT FeH FIT §72
5|Which type of stair with the steps are radiated from one point | Geometrical stair Helical stair Half turn stair Three quarter turn [FeAl & TTY fFE YR H AT SR diér 9TIGR drer 3T A3 WG | gl A | B 1
to upper floor? stair & foig ¥ I #AfSe d& [T e
g 82
6|What is a stair if its flights run opposite direction and there is Open newel stair Geometrical stair Three-quarter turn Doglegged stair [afe #Ig Ferrse faudid feem & N AT AT | SAMHAT AT | dT-aias AS | 39T olds T | D 1
no space between the flights? stair Tordt § 3R Fegel & 9T Fig Hrer
SeTE SAET g, o Higr 87
7|what is the name of stair? Geometrical stair Half turn stair Circular stair Quarter turn stair |[EYET T a1 FT §? SOAdT Oidr | 3mem Ais @y FAR Ael | Farex A1 der| B 1




8[What is the name of stair? Circular stair Bifurcated stair Geometrical stair Doglegged stair |&TeY &l oTH FaT &7 FATHR el oo A | SfAd Ay | 3ter o A
g
8
9(What is the name of stone step? Rectangular step Spandril step Cantilever step Cantilever tread [Tl T&T ol ATH T &2 AR &9 iz &g Ferclollal TeT ﬁm - foc]
and Riser step U3 IBEoR &T
g
=
8
10|What is the number of steps required if the height of floor is 21 20 19 18 gfe, Afolel T Fa15 3.0 HeX &, ar 21 20 19 18
3.0 m assume the rise is 15cm for a single flight? T Fellge & faT 15 @ T3 &
T 39T TRON H TE&AT FT g2
11|Which part is provided under the nosing to improve the Waist Scotia Newel post Flight Y & FU8 A GUR A & [T e TRIfeaT Addl 9T FATSE
elevation of the step? AFT *F PleT T AT YSIT
forar ST g7
12|What is the soaking time of bricks for brick work? 12 hrs 20 hrs 10 hrs 24 hrs ST & FIH & [T Scl & (RN Hl 12 hrs 20 hrs 10 hrs 24 hrs
AT FT §?
13|What is the maximum size of coarse sand for concrete? 10 mm 1mm 5mm 15 mm Fhlc & ToIT Al ¥d & ITehdH 10 mm 1mm 5 mm 15 mm
TR T 87
14|Which is the area calculated for covered area by the external Plinth area Carpet area Floor area Circulation area [H2T & TR W HAT & T8 ATH ECEIGE] Flellel &1 TR & T%hel gRETROT &
dimension of the building at the floor level? gRT S} &7 & fow o fFar
STel aTell 817 il AT g2
15|What is the period suggested for the removal of form work of 3 days 21 days 14 days 7 days R.C.C ®lal# 3R GaRI & ®IH dh 3 21 e 14 &1 7=

R.C.C columns and walls?




16[What is the curing period of plastering? 10 days 7 days 15 days 30 days TAER I RIs Ay &7 87 10 fgeT 7 1t 15 f&et 30 feet
17|The rate of particular work depends upon Design Specification of work |  Quality of labour Location AT F HT I w ESIEG] 1A I AIRAEAT| HA ST 0T TATA
IR T §
18|The number of bricks of size 20 x 10 x 10 cm required for 100 1000 500 5000 198 HlX & 3¢ & HIH & 0T 100 1000 500 5000
brick work of 1 cu.m is 3Ry AR 20 x 10 x 10 {1 Fr
Scifraear
19|What is helpful to work out the actual cost of per unit of the Estimate Rate analysis Capacity of labourers| Quantity of items  [a&3f 1 U Ffe r arecdias TeFehole] SY TQHWoT | ATl Y &THAT | aEg 3N S AT
items? T T Feplesl & T TE—H 87
20[The timber required for panelled door shutter 4cm thick for 45 cu.m 4.5 cu.m 15 cu.m 1.5 cum JeTol Gdlell 2eX & fol 100 F9 45 g AY. 4.5 9eT I, 15 g7 AT 1.5 geT .
100 sg.m is #Hex & v 4 a5 A 3maeIs
GEEIRAGIES
21|The quantity of wet mortar required for a 12mm thick 1:6 2 cu.m 20 cu.m 22 cu.m 2.2 cu.m 12 AT A 1 6 TR & Taw 29 HI. 20 g AT, 22 91 HI. 2.2 €T A,
plastering is 3METSF I AR & AT
g
22|The timber required for fully glazed shutter 4cm thick for 100 20 cu.m 2 cu.m 0.2 cu.m 22 cu.m 100 sq.m & Tt g8 g & THGA 20 ©T . 2 T #. 0.2 TeT . 22 T A

sg.mis

X & fOw 3maTSE 4cm ALY
ECo) g




Name of the Trade : Architectural Assistant 2" Sem - NSQF - Module 4 : Floors, Bending moment and Shear force

Question OPTA OPTB OPTC OPTD Question OPTA OPT B OPTC OPTD Ans |Level
1|What is the name of part marked as ‘X'? Ceiling joist Wall plate Common rafter | Herring Bone strutting |'X’' & &9 & TITgd #9T &1 A &1 Hifeler Ssee didl Telc PIH TR gIaT §lef Tgefear | D | 1
g2
V7
B
g
2|What is the ratio of cement mortar for pointing in 1:2 1:3 1:4 1.5 FolaTeelel 90l & Sl e & 1:2 1:3 1:4 15 B 1
flagstone laying? foaw @efe AR @1 3gurd Far g2
3|What is the name of layer marked as ‘x'? Compacted earth Sand filling Lean concrete Cement concrete ['X'® & & RIfGd R &1 a7 Fa1 | Fedes 37y fforar s TRferr T Shshlc dHe Fshie D[ 2
filling g7
4|What is the name of part marked as ‘x'? Wall plate Bridging joist Common rafter Floor boards X'& w9 H Rfga dwer &1 & F7=2 aidl Tl oo ST HIAA IF wY IS Al 1
g2
7
\ I [
5|What is the proportion of lean cement concrete used in 1:1:2 1:1%: 3 1:2:4 1:3:6 AT Fshlc & B H TIH oliel 1:1:2 1:1%: 3 1:2:4 1:3:6 D | 2
cement concrete floor? AT dshlc T 3T 4T 82
6|Which floor wax is applied as a final coat of polishing Mosaic floor Terrazzo floor Flagstone floor Granolithic floor ~ [TH®ER HdE YTH el & foIw drferer Ao B TS B FolITEeleT BT OENCIRE IR B 2
to get glossy surface? & 3ifasw Flc F & # FaT a1 w@ER
dFg ST ST §?
7|In two way slab, the ratio of longer span to shorter 2 <2 >2 0.2 TJd TG A, g€ § BIC 9IC 2 <2 >2 0.2 B 1
span is T HeJdTc glar &
8|The beam that is longitudinally reinforced both in Double reinforced Mat reinforced Single reinforced | Two way reinforced [fe S 3EISEd &9 A Telld &1 3R EECIECIGE #c gafod Tohel JaTold CIECAE A 1
tension zone and compression zone, it is known gdisaT a7 gt & qa‘i"a?r g sa
as & ¥ H ST ST §




9|What is the recommended slump for R.C.C work? 25 t0 50 mm 45 to 50 mm 80 to 150 mm 90 to 100 mm R.C.CHR & faw 3112fAd Geled 25% 50 fA.5T. 458 50 A, | 80® 150 AT, | 90 & 100 f&A.AT.
F1 §?
10[Which RCC member, bridges two or more walls or Beam Column Footing Slab Fll AN IRARN Feeg, e a1 & | EiE PSSt i g
columns and supports the support the structural 31 ARt a1 T B FAE FAT
member coming over it? ¢ 3R 38$ FW A arel
TAATCHS TEGET HT FUIC FAT 87
11{In oneway slab, where the main reinforcement of slab, Transverse Length Width Depth FAd Told A, ST@T Told & Ule &l [ARr) EEIE] BIEE] IS
spanning ATT GTEART ............
12|Name the reinforcement provided to construct the Main reinforcement Torsion Singly reinforcement | Doubly reinforcement [Told & @lell IR faeiad AT AT el TAT GTEHUI | Tehol FTGIHIUT | Sdel FTIHII
tensional stress developed at corners of slab. reinforcement aa & [Aor & fore gerer fpw arw
FTET AT A |
13{What will be the compressive strength of 15cm cube 36 N/mm? 53 N/mm? 43 N/mm? 33 N/mm? IS M 33 & Ueh TIURUT dehle F [oT 36 N/mm? 53 N/mm?2 43 N/mm? 33 N/mm?
after 28 days for a ordinary concrete of grade M33? 28 =t & dTe 15 AT FF Fr
HRNST drehd T graf?
14|What is the compressive strength of 150mm cube at 15 N/mm? 20 N/mm? 25 N/mm? 30 N/mm? 28 f&=lt & &5 M 20 & HTELRUT FHhehle 15 N/mm? 20 N/mm? 25 N/mm?> 30 N/mm?>
28 days ordinary concrete of grade M20? 9 150 fAAY g« Hr ghfsa arerd
FaT &2
15(What is the density of steel? 75.8 g/m® 75.5 g/m® 85.7 g/m° 87.5 g/m® el T elcd Tohelell 872 75.8 g/m® 75.5 g/m® 85.7 g/m® 87.5 g/m’
16|Which reinforcement is used for work of large Rolled steel beams Fabric made by Square mesh Square bars g3 fadAehell S8 & &3 U= W Ucs Tl A7 | ATesdT gRI ST AhR STell PR IR
dimensions, like massive foundation etc.? welding AT 3fe & @ & fov e T FIST
T AT YA fHAT ST 87
17{In which condition the cracking is occur in concrete? Chilling Windy Humidity Milder climate FhIc H IR hd AT H &l 67 Taferar CIES] T fAerad Seayg




Name of the Trade : Architectural Assistant 2" Sem - NSQF - Module 5 : Roofs - Theory of R.C.C blames

Question OPTA OPTB OPTC OPTD Question OPTA OPT B OPTC OPTD Ans |Level
1|What is the name of part marked as ‘X’'? Dormer Fascia Stepped flashing Soffit X% T H RAET AR & AH SR EEll TS FalAeT difthe C 1
FAT &7
g
2 Corbel Cornice Blocking stone Wall plate X% ® F REd AQT & ATH Bl Pl ScllTehdl Telel Jiel Tolc A 1
FT §?
]
3[(What is the name of roof? Truncated roof Belfast roof North light roof Bowstring steel roof [&d T =18 FT 8?2 ches ST S 3dY Il Bd ET@W Tl Hr C 1
aSd
.
2 layers of plain 2 layers of B.J.C 2 courses of brick | Two courses of tiles ['X' & &7 & TR 89T &1 AT | Al WHC Fehle | SN HT 2 5 & 2P TBed F al P | D 1
cement concrete FT 872 $r 2 1T

DC2AD4E1




5|What is the name of part marked as ‘X'? Collar Tie beam Straining beam Straining sill X% ® H ATRd AT &l AT Hlelk TS &7 e S TeTolaT el
FT 82
ril
g
6|What is the slope usually given on R.C.C flat roof? 1in 15 1in 20 1in 60 1in 130 IMHAR W R.C.C U &d W 15H 1 207 1 60F 1 130F 1
FIAT Sollel T&AT ST 82
7|What is the name of roof? Mansard roof Gambrel roof Hipped roof Gabled roof Sd & ATH FT g2 FqOS ©d AFsel od TR A Bd Iees Bd
b
5
8|What is the name of part marked as ‘X'? King post Strut Purlin Principal rafter |'’X'3% & # Rfgd W1 FT1 A1 TheT UIee T gforet EIEECIEETE
FT 87
X
!
9|What is the name of part marked as ‘X'? Straining beam Tie rod Collar Strut X' ® H ATRd AT &1 AT Tefotar & TS U3 FIeR e

DC403E)

FIT 7




Name of the Trade : Architectural Assistant 2" Sem - NSQF - Module 6 : Water supply sanitation and Drainage

Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans |Level
1|What is the name of part marked as ‘X’? Tee Cross Elbow Coupling X% T H RRT ART & ATH a Eae] Tedl I A 1
FaT B2
S @
2|Which type of pipe cannot be laid in exposed conditions? Steel pipe Cast iron pipe Asbestos cement pipe| Galvanized iron pipe [35TPR TFfaal & fhd g T T q139 dlg &1 9189 | 31k HHC 92T | "SIEdRd ogl | C 1
sy gT 9o/ ST hdr 87 ST
3|What is the name of part marked as ‘X'? Handle Spindle Valve Gland X' ¥ H RIGT AT F71 a5 CEG Tuesa ared ECE B 1
FT 87
4[which distribution system is used for water pumped directly to Gravity system Pumping system Dual system Radial system  [TgTST & 9IS GleHe Teflc & WY | I[dcarehyol Jomrel | 9t faees aIedl JoTel Mga {eea | A 2
mains from the treatment plant behind the hill? Hel O 99 fhT AT dTel Il &
forw forg faaRor Jotrelr &t
39T AT ST g7
5|What is the minimum capacity of automatic flushing cistern? 15 Litres 10 Litres 5 Litres 2 Litres JTCIATEH FeITIeT Becal T 15 e 10 e 5 @leX 2 @leX C 2

YATH &THAT T g7




6|What is marked as ‘X'? Y, brick wall Y brick wall ¥, brick wall 1 brick wall X% & A FI1 [Aed 82 Y,5¢ HI QAR | %3c P EaR | %sec A AR | 13c F dar
|
7 Soak pit Manhole Septic tank Inspection chamber [daX BT & YR F4T g2 e Me HAglel afcesh ¢ for{raTor et
SECTION AT XX SECTION §
8|Which pipe line is connected to storm water sewer in the Ventilation pipe Waste pipe Sanitary pipe Rain water pipe  [3aioT O¥eH & SI373¢ H i AT gfeeles aisg JTec Uiy TITEAT UI8T | STIRET &l Ureil
layout of drainage system? 9189 ollgel Fei dfexr daR & CANCIES]
I3 82
STOM WATER SEWER \
H [ SERVICE LANE [
| = IC.
S = :
| % N7Z 7
1 R-W-P /,gf’;-g ~
1 V@
| — O
i R({/R_W.P/RZ_\.!V.P /RWP .
=S W
ey =
| IRWPWERWP] |
'c@t’f”l;l@'i,@
9|What is the purpose of an inspection chamber in a house Maintenance Fire fighting Pumping Clogging T X & ofel [T YuTlell & &G 3ifoeTereeT qfeqer FollfataT
drainage system? T TAETOT FHeT FT 3T FAT g7
10{Which test is used for testing drainage lines connections Smoke test Air test Water test Mirror test SHA & FIR ol foIhrT oSt BT gdaTor arg qeTor OraAT &7 9ETOT | gUoT gueTor

above ground?

F FIFAT & W & fov Fg
qd&ToT ST IYAIT HAT ST 87




11|Which trap have depth of water seal? Floor trap Gully trap Nahani trap Intercepting trap  |Tohd SITel # TTeAT <hl Tlelel T FAR ¢T ol SiTel AgIAT SITel 3RS STTel
IS B2

12|What is the diameter of waste pipe in a washbasin? 32 mm 40 mm 50 mm 62 mm Ush dREAeT H JYAT I159 32 fa#Y 40 &Y 50 A& 62 T
T FT 87

13|What is the name of part marked as ‘X’? Floor trap Bottle trap Gully trap Running trap X' 9 H RAfgd H6T &1 A7 FAR T dicel ¢a pCIEIC Ifeter ¢a
FIAT §?

g

14|Which type of sanitary fitting is a bidet? Domestic Shower Ablution Soil Hferedr T T R &7 o3 Brey MR AT EED
g2

15|What is the name of piping system adopted in plumbing of One pipe system Two pipes system | Single stack system | Partially ventilated ~|STel feiehrell T qrgderss & T 9189 YoTlell | &l 9189 YoTlell ATl TCh 3R ¥

drainage? (western type) single stack system |qTSfsT Ul & F3T gl AT oeeH (IR BAIGR Ushel

g2 THR) F A

&ﬁ:&
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Name of the Trade : Architectural Assistant 2" Sem - NSQF - Module 7 : Mechanical services, Rain water harvesting

Question OPTA OPTB OPTC OPTD Question OPTA OPTB OPTC OPTD Ans |Level
1|The type of vertical transportation equipment that efficiently Stair Ramp Lift Escalator Hal & BA & T HASAA F oAt e kL] foroe Tl el C 1
moves people or goods between floors of T AT T o ST arel FEATER
buildings gRageT 3YHOT T TR &
2|The vertical transport is preferred in heavy traffic Lifts Stairs Escalator Ramp SEAR AR H R AT Tordret fear TelcT Trer ke C 1
areas gat . #Hyug fRar Smar &
3[The escalator are kept in motion by Ramp hydraulic Revolving drum Scissors lift Four bar mechanism [T&heleX &l aIfd & @M 1T & ECIRECIEED Qifeqer g7 TR fode BR IR HAbfdsd| C 1
fluid to raise %d g & fou
4|What is the meaning of extinguishing fire? Adding of the fuel to Pouring the Increasing the Removing anyone of |HRR TFATCIYSR T FAT Adeld g2 | Hio[gl 39T H 3T A 3T { dI9AT 3R & SROT H | D 1
the existing fire chemical liquid in  |temperature from the | the cause factors for $ereT PI SANSAT | TAITAh Aol Croiy a frelr & ¢
the fire fire the fire STeleT AT
5|Which is the cause for fire in electrical equipment? Less than the rated Damage in Open in earth Open circuit in Tagd 39eoT H 3T o&lel &l T dlecol O el & 31 HEFE fagd B 1
voltage insulation of cables | continuity conductor | electrical installation |FRUT HiT AT §?2 Gl geg ol H FsFc H Tlel | Soaeciol’d H
qHareT 3T afhe
6|Which type of fire is having risk of explosion and sudden out Fire on wood Fire on cloth Fire on metals Fire on liquid gas  |fh& 9&R &I 31971 ¥ aTwic g TR T AE [FU3 W o@l 3ET|  UTgH W HET [l 3 W) 3@ D 1
break? AR 3raES geat T GRT &7
7|Which type of fire extinguisher is illustrated? Foam type Halon type Dry powder type Carbon-di-oxide type | TR & 3iPe1emds® HI =0T B JhR golel UK W@ 93T JhR HIoA-3T3- B 1
fopar amar 2 JieraTss TR
3
g
]
a
8[The information sign symbol is having the colour White symbolon | White symbol on | Yellow back ground |Red border and Cross [§@eT [&=g Ididh &I T oAtel 9 I35 | & T A g Sofsh S1sT 3R | e 8 A3 | B 1
of blue back ground | green back ground | in to black border bar black symbol on g W Fhe Uclieh | WSS W A | FHTel & dren d | W 33 &1ST AR
and symbol white back ground Srica IM3T $HE TR sl
e
9|Which category of safety sign indicate that "It must not be Warning sign Mandatory sign Information sign Prohibition sign  |fF& ATl & FI&T Hhd G2Md & T |[TdTdel T Gehd | 3fTATT Hehd T H [eg CECIED) D 1

done"?

g Al fohdT ST ATfRU?




10|What does the symbol of road sign represent? Stop Give way Take ‘U’ turn Overtaking prohibited [&s® Reg &1 udie a1 cTar &2 T qEAT © J T o 3NaReh HIAT
gfasfea &
5
g
3
3
11|What is the height above the ground level marked as X’ in 10 cm 15 cm 20 cm 25 cm STl HAEUT @US H in X'&h ¥ H 10 9.7, 15 9.7 20 /.7 25 {7
water storage sump? Rafgd T TR F FR H 3T
frdeir &7
X T - - o3
I /N
pace 3 3 g
12|What is the rain water harvesting system? Roof water Ground water Recharge through a | Recharge through a [T STeT @ada YOIl &T g2 ¥R dreY EER G Rael e & |Ramsr & aegw
harvesting recharge recharge pit recharge well IRl aregA @ R & @ Raer s

WRE &




13|What is marked as ‘X'? Filtration pit Water table Recharge well Underground aquifer ['X'% & & a1 fAafgd g7 B HI ITSET e eodl ST e A EGHGISGES
REmer
14|What is the diameter of pipe for rain water harvesting in roof 50 mm 65 mm 75 mm 100 mm od & &89 & W o Tadd & 50 TA#Y 65 TH#Y 75 T 100 &Y

area 12 sqg. meter with average rainfall of 100 mm?

T 989 &1 e/ 12 997 #Hiex 100
el & iraa vt & ary F4r g2




